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[mstrueiions :

1" dJJ questions of PART:d are compulsory.

2" Answer sry fw€ questions ftom PARI - B.

PART * A
Marks - 25

n. Fil! iea ttee b!an$rs: 1x10:10

ia) .- is a sub layer of data link layer of
the elpe!? systena interconnections (OSD
refenergee model for data fransmission.

[Tum over



(c) In a netrrork, a machine is idmtified by
unlque address ealled 

-*, -_-.
(d) _ is a technique which eornbines

multiple signals, suitable for tramsmission

over a communication channel suah as

coaxial cable .gr optical fibre.

(e) Basic'tansmission data unit of data lirk layer

concern with

(0 The tull form of the ISDN is

(e) A is an artificial satellite that relay

is a protocol for elror control in data

ission, when the receiver detects error
it automatically requests the

to resend the paeket.

and amplifies radio telecommunication signals

via a fiansponder.

(h) The rules and procedures by frvo communi-

cating devices communicate each other is
called

(i) In _-- token is passed over physicai ring
formed by the station and the couial eable

network.

e')



2. &'rite fftie clr false:

(a)

&)

(c)

{d}

(e)

(rl

A ctient/senrer network is a network in which

oritry one eornputer is a server and provides

ssrviees to the other computer called clients.

Physical layer defines the direction of
transmission between fwo devices : Simplex,

Half dupEex Full duplex.

Dr:ring messag€ routing, every intermediate

switch in the nEtwork stores the whole

Enessage.

Routing is a function of data link layer.

{C) The higher layer always provides service to

its lower flayer"

$r) The furternet layer is responsible for logical
transmi.ssiosr of data packet over the interneJ.
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(i) Unguided media are ealle.d wirelees media"

C) A serv'ice is a set of prirnitivss et'*iEable ter

& u$sr process to aecess th* sem'iee.

3. Choose the correet answer:

(a) Geostationary satellties are:

(i) placed at a fixed point above thc earth

(ii) rotate the earttr at tfue varying axis

(iii) rotate the earth abgut a fixed axis

(iv) All of the above

(c) Electronic mail uses whieh Appiicaticn iayer

protocol ?

(i) SMTP tiii FTP

(iii) HTTP (iv) Nnne of, these
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{a} E,xehange messeges

(ii) Both (i) arad (iii)

{iii} Access for Global :

{iv} None of the above

(ii) Flow consol

{iii) Error eorrectiot

information

{e} Which one of the following is a funetion of
Nenvork layer ?

(i) Routing

4. (i) Explain TCPAP reference model. 3

{ii} Write about Fibre optic cable. 3

{iii} Write about the differences between Slotted
ALOI{A and Pure ALOHA. 3
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5" (i) What are the design issue of Data tink iayer ?

1

(ii) What are the differences between senriae and

protocol ? 3

(iii) What are the design issue of, phl'sieal layer ?

6. (i) What are the different types of transmission

media ?

(ii) Write about the Fibre

vrave.

(iii) What are the design issues

Session Layer ?

optic

3

cab!.e or Radio

3

of Data link
,t
J

by Applieation layer ?
!
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E" {i} Write' one eorrgestion algorithm or on&

Routing algorithm. 3

(ii) What is the diffsrence between Token Bus

and Token Ring ? 3

(iii) What do you nneaR by the connection-oriented

and connection-less service ?3

9" (i) What are the different ffies of data

eornpression technique used by presentation

layer ? 3

(ii) What are the different types of IP addressing ?

J
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